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QUESTION 1

For which database operation would you need the database to be in the MOUNT state?

A. Renaming the control files

B. Re-creating the control files

C. Dropping a user in your database

D. Dropping a tablespace in your database

E. Configuring the database instance to operate in the ARCHIVELOG or NOARCHIVELOG modes

Correct Answer: E

QUESTION 2

Your database is open in ARCHIVELOG mode.

LOG_ARCHIVE_DEST is set to Fast Recovery Area (FRA) and it is 100% full when a log switch takes
place.

What is the outcome?

A. The archivelog entries are made in the diagnostic destination and when space is available, new archivelogs are
generated

B. Obsolete backups are automatically deleted and new archivelogs are generated

C. All active sessions hang until the database administrator (DBA) makes space available in the FRA
D. No archivelogs are generated

E. All active sessions are disconnected and their transactions rolled back

Correct Answer: B

QUESTION 3

You are managing an Oracle Database 11g database. You want to ensure the recovery of the database to the point of
failure. Which configuration will you do to accomplish the task?

A. Multiplex all database files.
B. Configure the Flash Recovery Area.
C. Configure the database instance for ARCHIVELOG mode.

D. Configure the FAST_START_MTTR_TARGET initialization parameter.
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Correct Answer: C

QUESTION 4

Archivelog mode is enabled for your database and DB_CREATE_FILE_DEST is set to “/u01/oracle/db01\\".
The parameters, DB_CREATE_ONLINE_LOG_DEST_n and DB_RECOVERY_FILE_DEST, are not specified.
Which four are stored in the location specified by DB-CREATE_FILE_DEST? (Choose four.)

A. RMAN backups

B. data files

C. archived redo logs

D. temp files

E. control files

F. audit logs

G. audit files

H. redo logs

Correct Answer: BEFH

QUESTION 5

In which situation may the UNDO_RETENTION parameter be ignored, even if it is set to a value?
A. When the data file of the undo tablespace is autoextensible

B. When there are more than one undo tablespace available in the database

C. When the undo tablespace is of a fixed size and retention guarantee is not enabled

D. When the undo tablespace is autoextensible and retention guarantee is not enabled

Correct Answer: C

QUESTION 6

The TRANS_SUMMARY table contains product-wise transaction details that get updated with every transaction in the
system. Each row has cumulative transaction details of a single product and every product is identified by a product

code, which is the primary key.

As part of the archival process, the company wants to transfer the rows in the TRANS_SUMMARY table to the

TRANS_SUMMARY_DUP table at the end of every quarter of the year. Along with existing products, the company deals

with many new products during every quarter.
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Which method is best suited for this quarterly data transfer?
A. Using the MERGE command

B. Using the SQL*Loader utility

C. Using the correlated UPDATE command

D. Using the INSERT command to perform bulk operation

Correct Answer: A

QUESTION 7

What function is performed by the System Monitor (SMON) background process in a database instance?
A. It performs recovery when a user process fails.

B. It performs instance recovery when failed database instance is restarted.

C. It monitors memory space allocation only within the System Global Area (SGA).

D. It monitors memory space allocation within the SGA and the Program Global Area (PGA).

Correct Answer: B

QUESTION 8

The user SCOTT owns the CUST table that is placed in the SALES tablespace. The user SCOTT opens a
session and executes commands as follows:

SQL> INSERT INTO cust VALUES(101, \\'JACK\\);

1 row created.

SQL> INSERT INTO cust VALUES(102, \'SMITH\WY);

1 row created.

As a DBA, you execute the following command from another session:

ALTER TABLESPACE sales READ ONLY;

Which statement is true regarding the effect of this command on the transaction in Scott\\'s session?
A. The command fails as a transaction is still pending.

B. The transaction in Scott\\'s session is rolled back and the tablespace becomes readonly.

C. The command waits and the user SCOTT can execute data manipulation language (DML) statements only as part of
the current transaction.
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D. The command hangs until all transactions on the objects in the tablespace commit or rollback, and then the
tablespace is placed in readonly mode.

Correct Answer: D

QUESTION 9

Why does performance degrade when many UPDATE, INSERT or DELETE statements are issued on a table that has
an associated bitmap index?

A. The DML operations re-create the bitmap index blocks

B. The bitmap index is rebuilt automatically after a DML operation

C. The smallest amount of a bitmap that can be locked is a bitmap segment

D. Additional time is taken to remove NULL values from the bitmap index after a DML operation

Correct Answer: C

QUESTION 10

In a system, large online transaction processing (OLTP) jobs run during the daytime that require a large database buffer
cache. In the night, the system supports batch jobs that require a higher value to be set for the large pool. You must
simultaneously configure the memory components to accommodate the peak requirement.

What would you do to automate this configuration for the memory components with change in mode of working?

A. Set the SGA_TARGET initialization parameter to zero.

B. Set the PRE_PAGE_SGA initialization parameter to TRUE.

C. Set the MEMORY_MAX_TARGET initialization parameter to zero.

D. Set the SGA_TARGET initialization parameter to a nonzero value.

Correct Answer: D

QUESTION 11

You used the IMMEDIATE option to shutdown your database instance. Consider the steps that will be performed later
when you open the database:

1.
SGA is allocated.
2.

Control file is read.
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3.

Redo log files are read.

4,

Instance recovery is started.

5.

Background processes are started.

6.

Data files are checked for consistency.
7.

Server parameter file or the initialization parameter file is read. Which option has the correct order in which these steps
occur?

A.7,1,523,6,4

B.1,5,7, 2,3, 6; step 4 is not required
C.7,1,5, 2, 3, 6 step 4 is not required
D.1, 2, 3,5, 6, 4,; step 7 is not required

Correct Answer: C

QUESTION 12

The instance abnormally terminates because of a power outage. Which statement is true about redo log files during
instance recovery?

A. Inactive and current redo log files are required to accomplish recovery

B. Online and archived redo files are required to accomplish instance recovery

C. All redo log entries after the last checkpoint are applied from redo log files to data files

D. All redo log entries recorded in the current log file until the checkpoint position are applied to data files

Correct Answer: C

QUESTION 13
Your database instance is started using the server parameter file (SPFILE). You executed a command to
change the value of the LOG_BUFFER initialization parameter:

ALTER SYSTEM SET LOG_BUFFER=32M SCOPE=BOTH,;
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What would be the outcome of this command?

A. The command succeeds only if Automatic Memory Management is not enabled.

B. The command succeeds, but you need to restart the database for changes to take effect.

C. The command returns an error because the size of the redo log buffer cannot be changed dynamically.

D. The parameter value is changed and it comes into effect as soon as space becomes available in the System Global
Area (SGA).

Correct Answer: C

QUESTION 14

You suspect unauthorized data manipulation language (DML) operations on a particular table. You want to track users
who are performing the transactions and the values used in the transactions. You also plan to transfer these values to
another table for analysis. How would you achieve this?

A. by using triggers

B. by using Data Pump

C. by using external tables

D. by using anonymous PL/SQL blocks

Correct Answer: A

QUESTION 15

Which two statements are true about alerts? (Choose two.)

A. Clearing an alert sends the alert to the alert history

B. Response actions cannot be specified with server-generated alerts

C. The nonthreshold alerts appear in the DBA_OUTSTANDING_ALERTS view

D. Server-generated alerts notify the problems that cannot be resolved automatically and require administrators to be
notified

Correct Answer: AD
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